| Efficiency vs Dxy |
.05
S S N N T N T T
]

T S
o SO S S S S 1 I A

e £ IR L S S R
© Foo : : : : : : : :

0.03F it e
YL e
002— ------- | e
T
L T o

TS0 S T s

.9 O:IIII.IIII.IIII.IIII.III:IIII.IIII.IIII.IIII.IIII
I St ST RS S S T SRR SIS S
x| ;
0_9:_ ................................... | U SO SRS SUR
N 4

08 e 55-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base
[ Efficiency vs Dz | |—s— DQM_mkFit_TT_retrain_noCandDNN

—+— DQM_mkFit_TT retrain
%0.05 ; : . .

PV SRR NN RN S R S
oy i i i : i

e ) s Es S
O . . . . N

G035 proeneeee [ R frorereeeee A
o : : : :

T e S S
0.025F o |
0.02E ol
0,005} frbo

0,00 b [

o+

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


